Use the following figure to answer the next 4 questions:
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In the figure, the equilibrium price and quantity are

a.
P = $6 and Q = 800.

b.
P = $4 and Q = 300.

c.
P = $4 and Q = 400.

d.
P = $6 and Q = 300.

e.
P = $7 and Q = 800.

2
Let demand remain constant at D; an increase in wages causes firms to be willing and able to sell 150 fewer units at each price than they were before the wage increase.

a.
The new equilibrium price and quantity will be P = $6 and Q = 150.

b.
The new equilibrium price and quantity will be P = $6 and Q = 400.

c.
The new equilibrium price and quantity will be P = $7 and Q = 250.

d.
The new equilibrium price and quantity will be P = $8 and Q = 300.

3
Let supply remain constant at S; a decrease in income causes consumers to be willing and able to purchase 150 fewer units at each price than they were previously.

a.
The new equilibrium price and quantity will be P = $6 and Q = 150.

b.
The new equilibrium price and quantity will be P = $5 and Q = 150.

c.
The new equilibrium price and quantity will be P = $7 and Q = 250.

d.
The new equilibrium price and quantity will be P = $5 and Q = 200.

4
Let supply remain constant at S; an increase in the price of a substitute good causes consumers to be willing and able to buy 150 more units of the good at each price in the list than they were when demand was D.  Which of the following statements is (are) true?

a.
At the original equilibrium price there will be a shortage of 150.

b.
At the original equilibrium price there will be a surplus of 150

c.
At the new equilibrium P = $6 and Q = 450.

d.
At the new equilibrium P = $7 and Q = 400.

e.
both a and d
Use the following demand and supply functions to answer the next three questions.


Demand:     
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5
Equilibrium price and output are

a.
P = $7 and Q = 480. 

b.
P = $10 and Q = 300.

c.
P = $20 and Q = 150.

d.
P = $100 and Q = 5,300.

e.
none of the above

6
If the price is currently $11, there is a 

a.
surplus of 110 units. 

b.
shortage of 240 units. 

c.
surplus of 350 units. 

d.
shortage of 700 units. 

e.
none of the above

7
Let supply remain constant; an increase in income causes consumers to be willing and able to buy 220 more units at each price than they were previously.  The new equilibrium price and quantity are

a.
P = $10 and Q = 520. 

b.
P = $12 and Q = 400.

c.
P = $10 and Q = 80. 

d.
P = $15 and Q = 600. 

e.
none of the above

The generalized linear demand function below is used to answer the next 3 questions:.
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where Qd = quantity demanded, P = the price of the good, M = income, 
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 = the price of a good related in consumption. 

8
The law of demand requires that 

a.
a < 0. 

b.
b < 0.

c.
P < 0. 

d.
a < 0 and b < 0.

b. b < 0 and P < 0.

9
If c = 15 and d = 20, the good is

a.
a normal good.

b.
an inferior good.

c. a substitute for good R.

d. a complement with good R.

e. both a and c
10
For the generalized linear demand function given above

a.
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b.
d is the effect on the quantity demanded of the good of a one-dollar change in the price of the related good, all other things constant.

c.
b is the effect on the quantity demanded of the good of a one-dollar change in the price of the good, all other things constant.

d.
all of the above
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If the current price of a good is $10, market demand is
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, then

a.
more of the good is being produced than people want to buy.

b.
a lower price will increase the shortage. 

c.
at the current price there is excess demand, or a shortage, of 150 units.

d.
Both b and c
e.
All of the above 

12
Yesterday's newspaper reported the results of a study indicating that people who eat more bananas are more attractive to the opposite sex.  What do you expect to happen to the market price and quantity of bananas?

a.
price will decrease, quantity will decrease 

b.
price will decrease, quantity will increase 

c.
price will increase, quantity will decrease 

d.
price will increase, quantity will increase

13
If the market price of eggs rises at the same time as the market quantity of eggs purchased decreases, this could have been caused by

a.
an increase in demand with no change in supply. 

b.
a decrease in supply with no change in demand. 

c.
an increase in supply and an increase in demand. 

d.
an increase in supply and a decrease in demand.

14
The generalized supply function is 
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, where 
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 = quantity supplied per month, P = the price of the commodity, 
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= price of an input, and F = number of sellers. 

a.
The supply function when 
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 = $90 and F = 20 is ____________________.  The supply function intersects the price axis at a price of $______.

b.
Using the supply function in part a, the quantity supplied when the price of the commodity is $300 is ________ units per month.   When the price is $400, the quantity supplied is _______ units per month.

c.
The INVERSE supply equation (for part a) is ____________________.  The supply price for 750 units per month is $_______.

15
Use the figure below to answer the following questions:
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$

The arc elasticity of demand over the price range $11 to $10 is __________.

b. The arc elasticity of demand over the price range $7 to $5 is __________.

c. The arc elasticity of demand over the price range $5 to $3 is __________.

16
Using the following demand schedule, calculate total revenue, marginal revenue, and own-price elasticity of demand.  Then show the relation among marginal revenue, price, and elasticity of demand.

	Price
	Quantity demanded
	Total 

revenue
	Marginal 

revenue

	$100
	40
	_______
	xx

	90
	50
	_______
	_______

	80
	60
	_______
	_______

	70
	70
	_______
	_______

	60
	80
	_______
	_______

	50
	90
	_______
	_______


17
With a given supply curve, a decrease in demand leads to 

a.
a decrease in equilibrium price and an increase in equilibrium quantity.

b.
an increase in equilibrium price and a decrease in equilibrium quantity.

c.
a decrease in equilibrium price and a decrease in equilibrium quantity. 

d.
no change in price and a decrease in equilibrium quantity. 

e.
none of the above

18
The generalized demand function for good A is:  


[image: image14.wmf]1,20060.510423

dBe

P

QPMPTN

=-+-+++


where 
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Q

= quantity demanded of good A per month, P = the price of good A, M = average household income, 
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 = price of related good B, T = a consumer taste index, Pe = price consumers expect to pay next month for good A, and N = number of buyers in market for good.

a.
Good A is a(n) ___________ good because the slope parameter on __________ is _________.

b.
Goods A and B are ________________ because the slope parameter on ________ is _____________.

c.
When P = $6, M = $40,000, 
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 = $20, T = 8, Pe = $2, and N = 10,000, quantity demanded of good A is ____________ units per month.

19
A "puppy boom" and an increase in the price of horse meat would cause the market price of dog food to 

a.
rise, fall, or remain unchanged depending on the magnitude of the changes, and the market output to rise. 

b.
rise and the market output to rise, fall, or remain unchanged depending on the magnitude of the changes. 

c.
rise and the market output to rise .

d.
fall and the market output to rise, fall, or remain unchanged depending on the magnitude of the changes. 

e.
none of the above

20
Suppose that more people want Orange Bowl tickets than the number of tickets available.  Which of the following statements is correct? 

a.
There is a shortage of Orange Bowl tickets at the box office price. 

b.
The box office price is higher than the equilibrium price for Orange Bowl tickets. 

c.
If the box office price were raised, the excess demand for Orange Bowl tickets would decrease.

d.
both a and c
e. all of the above

The next 6 questions refer to the following computer output from estimating the parameters of the nonlinear model
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The computer output from the regression analysis is:


	DEPENDENT VARIABLE:
	LNY
	R(SQUARE
	F(RATIO
	P(VALUE ON F

	OBSERVATIONS:
	32
	0.7766
	32.44
	0.0001

	
	
	
	
	
	

	                   VARIABLE
	
	PARAMETER

ESTIMATE
	STANDARD

ERROR
	T(RATIO
	P(VALUE

	
	
	
	
	
	

	                    INTERCEPT
	
	(0.6931
	0.32
	(2.17
	0.0390

	                    LNR
	
	4.66
	1.36
	3.43
	0.0019

	                    LNS
	
	(0.44
	0.24
	(1.83
	0.0774

	                    LNT
	
	8.28
	4.6
	1.80
	0.0830
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The nonlinear relation can be transformed into the following linear regression model:

a. 
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b. 
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c. 
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d. 
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22
The estimated value of a is

a.
(0.6931

b.
0.50

c.
(3.67

d.
2.66

23
Which of the parameter estimates are statistically significant at the 90% level of confidence?

a.
All the parameter estimates are statistically significant.

b.
All parameter estimates except 
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a

and 
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 are statistically significant.

c.
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 is not statistically significant, but all the rest of the parameter estimates are significant.

d.
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c

 is not statistically significant, but all the rest of the parameter estimates are significant.

24
If R = 1, S = 2, and T = 3, what value do you expect Y will have?

a. 143

b. 1,345

c. 3,289

d. 6,578

e. (4,559

25
If R decreases by 10% (all other things constant), Y will 

a. increase by 4.66%.

b. increase by 46.6%.

c. decrease by 4.66%.

d. decrease by 46.6%.

26
If S increases by 8% (all other things constant), Y will

a. decrease by 3.52%.


b. decrease by 0.44%.

b. decrease by 4.4%.

c. increase by 0.44%.

e.
decrease by 2.4%.

The next 7 questions refer to the following:

The following linear demand specification is estimated for Conlan Enterprises, a price-setting firm: 
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where Q is the quantity demanded of the product Conlan Enterprises sells, P is the price of that product, M is income, and 
[image: image28.wmf]R

P

is the price of a related product.  The results of the estimation are presented below:

	DEPENDENT VARIABLE:
	Q
	R-SQUARE
	F-RATIO
	P-VALUE ON F

	OBSERVATIONS:
	32
	0.7984
	36.14
	0.0001

	VARIABLE
	
	PARAMETER

ESTIMATE
	STANDARD

ERROR
	T-RATIO
	P-VALUE

	INTERCEPT
	
	846.30
	76.70
	11.03
	0.0001

	P
	
	–8.60
	2.60
	–3.31
	0.0026

	M
	
	0.0184
	0.0048
	3.83
	0.0007

	PR
	
	–4.3075
	1.230
	–3.50
	0.0016


27
At the 1% level of significance, the critical value of the t(statistic used by Conlan to test for statistical significance has _____ degrees of freedom and is equal to ________.

a.
32; 0.7984

b.
32; 36.14

c.
32; 4.57

d.
30; 2.750

e.
28; 2.763

28
At the 1% level of significance, the critical value of the F(statistic is equal to __________.

a.
0.7984

b.
4.57

c.
36.14

d.
2.763

e.
(3.50

29
At the 1% level of significance, which estimates are statistically significant?

a.
All are statistically significant

b.
All but 
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a

are statistically significant

c.
Only 
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ˆˆ

,,and

abc

are statistically significant

d.
Only 
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a

is statistically significant

e. All but 
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are statistically significant 

30
Based upon the parameter estimates in the above table

a.
this good is a normal good.

b.
the related good is a substitute.

c.
the related good is a complement.

d.
a and b
e.
a and c
For the next 3 questions assume that the income is $10,000, the price of the related good is $40, and Conlan chooses to set the price of this product at $30. 

31
At the prices and income given above, Conlan can expect to sell _________units.  

a.
342

b.
600

c.
724

d.
864

e.
872

32
At the prices and income given above, what is the price elasticity of demand?

a.
(0.43

b.
(0.86

c.
(1.00

d.
(1.43

e.
(2.40

33
At the prices and income given above, what is the income elasticity?

a.
(1.62

b.
(0.87

c.
0.21

d.
0.31

e.
1.50
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